HL—

[RILTA+—=] tH e B

iz {SM—S3153) ZEH
B0 3084 x BT 5300 X 552763
HaEs HMaES [(Has E %k HaEs HaES [Haf E %k
G253M0010000| ZE&# B 1 GM-3681|M35300870020 | X T4 2
v-3510 |G253M0030000 HE% Al 1 1215%x130% 75 (112 kg)
G253M0020000|E&# #& 1 |2Nd—403|JNO0M0200000 BE/NRIL K | 3
G253M0040000| 5 &# % 1 2364 x 707 X 106 (_20.7 kg)
3000 % 170 x 110 (156 kg) | 2NJ-403 |JNO0M0200000 BE/XRIL K | 3
G353M0050000 (1% & # 1 2364 x 707 X 106 (207 kg)
V-3511 |G353M0120000|#%#7 1 | 2NU-403 [ unoomo200000] B2/ 5 )L % | 3
G353M0130000| Hij#T 1 2364 x 707 x 106 (_20.7 kg)
3115 X 200 X 105 (157 kg) |2Nd—403|JNO0M0200000 BE/ SRV K | 3
VM-0020 [ M253M0060010 AlIO—F—H# & 1 2364 x 707 X 106 (207 kg)
M253M0070010|gfa—7F—4 & 1 |2Nd—402|JNO0M0200000 BE/NRIL K | 2
3183 %200 % 180 (271 kg) 2364 %X 707 X 76 ( 14.2 kg)
VM-002 1 [M253M0080000 #Ba—F—H & 1 |2Nd—402|JNO0M0200000 BE/NRJL K | 2
M253M0090000|#%1—F—4 & 1 2364 X 707 X 76 (142 kg)
2483 x 110 X 80 (97 kg) VM-3543 | JNOOM0200000 | B¢/ SR)L K 2
|VM—0023|M253M0100000|¢F'HEH‘I | 8 | M353M0220000(B#/ SR JL I 1
2398 X 105 X 55 (16.2 kg) 2364 X 707 X 106 (159 kg)
|VM—3523|M253M0100000|EPF'EFIE | 6 | F253M0330010 |E4R/KE1Y Z i 1
2398 X 85 X 55 (126 kg) F253M0350010 [E4B/KE1Y AEi 1
|SM—3524|M253W0170001 HRAR | 14 | F253M0340010 |[EBR/KEIY E# 1
2313 X 165 X 60 (196 kg) SS-3555| F253M0360010 | B#R/KTIY HiE 1
|VM—0024|M253M0110000|¢9&$I | 2 | F253M0470010 | &#/Kt1Y ZEAHI 2
2558 X 245 X 145 (178 kg) F453M0500010 (& #:KE1Y 6
G353M3140000|h R ESE! 1 G25300630000 | 8 O 1z E € #% 2
V-53530 | G35303240000 | o R £ A#4 1 3585 X 222 X 98 (236 kg)
G353M3150000|— i & (yudhpY)SHE 1 | S-3682% | G353*0710000|J§/\°*» fh | 2
G35303250000 | —fiF AR 44 1 2840 X 285 X 95 (_11.6 kg)
3055 X% 145 % 110 (375 kg) |8—3682*|G353*0710000|J§/\°$‘f~)b h | 2
V-S3032 | G353M3150000| — R (R&HY)SE 2 2840 X 285 X 95 (_11.6_kg)
G35303250000 | — A3 FFE N 44 2 |8—3682*|G353*0710000|E/\°7~)L th | 2
3055 X 140 x 87 ( 36.7 kg) 2840 X 285 X 95 (116 kg)
V-53032 | G353M3150000| — B E (R&HY) SE 2 | S-3682% | G353*0710000|E/\°*w o | 2
G35303250000 (— A% FFEA# 2 2840 x 285 %X 95 (116 kg)
3055 X 140 X 87 (367 kg) |S—3682*|G353*0710000|E/\°;?~)l/ th | 2
Ss-3533 | F353M0180000 A1/ ¥ — 1 2840 X 285 X 95 (_11.6_kg)
G353M0280000 | EF4# 1 S-3683% | G3953*%0720000 | BB/ SR )L (SEf) 1
3085 x 197 X 78 (_11.6 kg) G353*0730010 |FE/ L T 1
G353M0270000 | BiT1E #E 4R 1 2840 X 310 X 95 (15 kg)
v-3545 |G353M0680000] E4RATE A1/ \— 1 | AT-VM2 | 1399813101 |?LT:’C#§EGO(’5‘—"FEI“/)L=2563 | 1
2583 X 61 X 61 ( 08 ke
3100 x 430 X 150 (154 kg)
V-2036 |G253M0230000| ZE L4 AT 1 XHMRBES-HABFSORIBEESESER
G253M0250000| b #E#R &l 1
3120%x410x 110 (202 kg)
v-3537 |G253M0240000| % fL#EtR % 1
G253M0260000| 1L 4EHR & 1
2380 %X 310 x 105 (115 kg)
G253M0370000|#L—JL 2
M253M0380000({=TL—JL & 1
VM-2680|M253M0390000|/-TL—JL & 1
M253M0450000| R ) >4 h/v— 2
2000040049 |ESIETFITH 1
2782 %127 x 55 ( 13.7 kg)




No. 2/2

10 3084 x BT

AHL—2 [RILTDA—] {HEIEA%E

,((SM—83153>>

5300 X &= =2763

SEN

WaEs | Ha%s [H84% By | [ Hass | H2%S (B84 FEEA
G253M0400000|RL—JL 2 X INOFE D DAHEE
G253M0410000|#L—ILIESHEE 6 | s-2660 [F253M0290000(E4B4R i | 2 |
G253M0420000|#&L—)LIEHEE # 2 3576 x 785 X 70 (269 kg)
G253M0430020;BE & % 1 | s-2660 [F253M0290000| 2484k &I | 2 |
G253M0440020|;B8E& A 1 3576 X 785 X 70 (269 kg)
GYOOMO0810020| F & (k) 2 | s-2561 [F253M0310000|E4B1R 1% | 2 |
GYOOMO0820040| FE (TF) & 1 2360 X 785 X 70 (179 kg)
GYOOMO0830040| F & (F) & 1 | s-2561 [F253M0310000| 2484k #% | 2 |
GYO0M0840000)| i & 11 2360 % 785 x 70 ( 179 ke)
GYOOMO0850020|# & (F & 1) & 10 X fERBOIEE
GYOOM0860020| 1% (F B 1) A 10 | |[S-z2660[Fz53M0290000|E1B4R & (HEZEEALR) | 2 |
G25300460000 | RS YL AR—H— 2 3576 X 785 X 70 (269 kg)
S253M0510000 |~ vave 8 & 1 | S-Z2660 [FZ53M0290000 [ Z1B4R &1 (RERLA) | 2 |
S253M0520000 | v ave B A 1 3576 x 785 X 70 ( 26.9 kg)
$25300530000 |13 LEES 2 | s-7z2561 [Fz53M0310000| B4B4R % (EEE/VH | 2 |
S253M0540000 |7 vi a2t 2 2360 X 785 X 70 ( 17.9 kg)
G25300510000 |7 h—£ 8 2 | s-z2561 |Fz53M0310000| B4B1R % (EZE/H [ 2 ]
G25300520000 (& #t=£E 2 2360 X 785 x 70 ( 17.9 kg)

4984800358 |{b¥fa—4— & 1 X EEROERD
4984800359 |{b¥fa—F— & 1 FZ53M0330010|E4E/K 1Y Eﬁﬁ(%néé}m'}‘ﬁ%) 1
G25300560000 |EFFEIEHEE 2 FZ53M0350010|E#R /K1Y HRIGEZR LD A 1
G253M0570010|EfRHU KL 36 FZ53M0340010|E4B/KYIY ERFEERA A 1
4984800360 |&#yNH/\— 6 SS-Z3555 FZ53M0360010 | B4Rk Y 7{51&(&3@,&@‘%) 1
G253M0590000| EiRO—+—H/\—RIAL 1 F253M0470010 | &#/KE1Y ZEHHI 2
G253M0600000| BiRa—F—H/\—RiH 1 F453M0500010 | &#KE1Y # 6
G253M0610000| B Ra—F—Hh/\—% & 1 G25300630000 | i A 1 & £ 45 2
G253M0620000| BRa—4+—Hh/\—%H 1 3585 % 225 x 103 ( 236 keg)
G25300650000 |R{E#EtRIEDHEE £ 1
G25300660000 |R{L#EHRIEDHEET 1 * ENODER G IE— AR AEAER (2 L CEBDE A TY
4989800133 |[TA4% D25(4FD4) 2 . _
4989800104 [TAY—41)vT O4H 3 88 | EREED |
GY0001000000 | 7> H—#E 2 W E EE
SM-83502| 201223012 15 gLk (F ok TvL v ED) 33t 572 kg 661 ks
4401523003 - 6 B -
4401811002 | (F 7 ILFyMMERR)
4986300114 [fhKT—F (ESV) 2
4985700097 |7NF¥v T D17 10
4985700109 |[RLNRFryT 4 _ _ _ _
4985700026 |talF+vv T 46 HEEES EBE HmEs(*x) | MBES(x)
4986000033 |[Zx)Lb/SwF (6x20%5) 37 SM-S3153W L—YHRTAk W W
4401806023 |EiRES 37 SM-S3153S| # )L 77— JL/N— S S
4985700126 |RiRF M6Fxvv7 37
4401506001 |M6+ vk (158) 37
*| 4401206125 |M6 X 55XFEMRILE 21
*| 4401206127 |M6 X 75/XFAR)Lk 4
4401206123 |M6 x 407<FAAR )Lk 58
4401206122 |M6 X 207FAR )Lk 4
4401206117 |M6 x 167XARILE 227
4400360008 |M6x 12 E54al 22
*| 4401506029 |M6IS5 U ftRAF vk 102
4400350087 |M5 x 12+7E~X4l 146
4401205032 |5%x 127542 vEHl 38
4401204014 |[Y—I{+PANTHA42L(4 X 13) 13
4401208033 |M8x 20752 )Lk 2
4401508017 [M8I7S At RAT Vb 2
4984800317 |#£E :60(APEAIVI30) 3
4984800215 |TJLAR60-80° 1
4401204015 |PANTH X4l (4% 16) 10
4985700017 |fE{+4 O AV (SG-50A) 1
4985700099 |[THARRLEIHF v 6
4987200021 |a—F2 45 FI(K) 1
4989800094 |A 1)L 1
4989800135 |#R[EER!—TP8 2
4987200002 |fEIEEH 1
5405340212 [{REFE 1
4201898224 |##IEEH (F2FL—) 1
EG11SC000000|#A 37 FBAE (JRr &) 1
*[EG11SCS00050|#H I ERBAE (FEER) 1
425x 330 % 270 ( 183 kg)



